
Use the words in the word bank to complete the sentences. 

 

 

 

 

 

Bear  was _________________________ because he had lost his 

hat. 

 

 

 

Rabbit was ____________________________ when bear asked 

him if he had seen his hat. 

 

 

 

Tortoise was _____________________ to climb up the rock so 

bear helped him. 

 

 

 

 

A hat was something __________________________ to armadillo. 

He had never seen one. 

 

 

 

 

Bear was being ____________________________ when he told 

squirrel he had not seen rabbit. 

 

 

The story had an __________________ ending because 

 

 _________________________________________________ . 

 

 

unable  unknown  unhappy unhappy  unfriendly  untrue  
 


